RAMANUJAN MATHEMATICS CLUB
SALUR

(Estd. 2001)
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CLASS : VIII

(Upto November Syllabus)
Dt. 7-12-2008
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RAMANUJAN MATHEMATICS CLUB, SALUR

g8 MATHEMATICS TALENT TEST - 2008 @
VIIl CLASS (Upto November Syllabus)

Date : 07-12-2008
| Max. Marks : 50
SChOOL: ... Time : 9 am. - 10 am,
AmSoen : 1) S00HLoH DO Sngoeg, Ardod 1,2,3 Som 4 o Lol gs SlRged Hginto
O Pon SR &8, i 63 ALY, 58 HOEVS SERGHSEVSD) 1 Bnty,

2) §8 S, SERPBVALE 1/4 ERCD A0 BPGRL o8 SdTatxb.

3

3) 0P SARGHIGIOD Entyen BWEY.
1) AcB oowdn(A-B)= ...; lfA cB thenn(A-B)= ........
1) A 2B e 4)0

2008 Eot) SEKPOO........Jx; S S
1) 2008 3 20087 4) 1004

1) 14

4) 16
(ANB) =A° uBc;.,

2) Identity; Sy
ieme 4) De-morgan’s; é.am:s
5) A= {2,(4 5),4} oons SY8od IS DB ©dE0?
If A={2,(4,5),4}; then which of the following is false?
1) (45)eA 2) {45}cA 3 {45)cA 9{2.4cA
6) x<0,y>0 ®ond (X,y) d >50s® dotnod?
If x<0, y>0 then (x,y) lies in ................... quadrant.
) Q, 2) Q, 3 Q, 4 Q,
7) n(AUB)=48,n(A)=26,n(B)=22 wanis A £0d» Bev.......50Ien
If n(AUB)=48,n(A)=26,n(B)=22then Aand Bare................ sets.
1) Equal; 3% 2) Equivalent; ey 3) Disjoint; Do 4) None; b&?d)@

1 mempo:ené ®3508
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11)

12)

13)

“14)

~15)

10)

1) 0.544 2) 2.666 3) 1.633 4) 1.333

OoEriasS Somgo a’+b' B8 ¢d+d® $obcsn d<b<a<c Bt (0%
\/a2 +br+c?—d? Q0Beeeiiinainnnnnn,
Ramanujan’s number can be written as a’+b’ or ¢>+d* and d<b<a<c

then the value of Va2 4+ b2 +c? —d? S cvdsinmentennrennn,
1 13 2) 14 3) 18 4) 24
a” -b™* :
a_2 _b_2 T ttsresisieseenenas
b2 _az 2 2 a2b2 a2b2
0 = AL I L . L
a‘b a’b? a‘+b b*-a

DS SHpEso i SBH K OLo .............

Identity element with respect to Union in sets is ................

) @ 2 W .30 4) {2}

x (1Y o (1Y
(64) =(E) €00 3?);53!;4y=...,_.1.'.'..;1 If(64) =(ﬁ) then 3x+4y=......
1) 0 23 . 31 4) 5

2.8 558 Both HAAREEDeR to 99/-en xS oSy, 28 KBS0
10% orgidntd $H0ah BEE HAKrE0P 10% Sghw od.
o0l o8 ogin Sor $§ T°Eo Jos?

A man sells two watches at Rs. 99/- each. In one he gains 10% and in
the other he loses 10% what is the gain or loss %?

1) 1% Progit: 1% ergo 2) 1% Loss; 1% Sigo

3) Remains same; ergf0BeH K508 4) None; Hsed

x*-23x*+1 @) sBeroseen ... DB .............

The factors of x*~23x*+1 are ............. and ...............

1) (3+5x+1) (x*=5x+1) 2) (3+5x-1) (x+5x+1)

3) (3-5x—1) (X*+5x+1) 4) (x®-5x-1) (x®-5x+1)

a*+b%=a?b? wonis a+b" GB0E) DD ..vvvrreeneniinn

If a%+b%*=a®b? then the value of a%+bS is ................... |
H 1 2) 2 3) 0 43 :
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[ 16 )
16) (x=y)® + (y=2)* + (Z—-X)* = ccocccrinieen 2
1) 3(x-y) (y-2) (z-%) 2) (x+y+2) (2+y242*—xy-yz+2X)

3) eyt 3xyz 4) vy +23-3nyz
17) ;l-+b=3 Vele ) a+-:;=2 o ath =i

If i—+b=3and a+%=2thena:b=is ......... .

) 32 2) 2:3 3 12 42

18) 100 &¥re (55 Hoages™ @oBo Avdo 2rrHe [HEFS Bosge J0%g...
The number of prime numbers less than lOGfi)vl_)_ose sum of the digits is 2 is.........
) IS L

19) 1024 Gw¥) ©) SeEErosTOD eg&eﬁm 008 [Fradrr & SBBS°
$) 63 s°8er0L0 ...

If all the divisors of 1024 ar:
divisor iS............

1) 16

1) 1440 ;
21) x &%) 8%, @»é& 4% ©ond X BN 20% =..............

¥

8% of x=4§" of y then 20% Of X iS ...evvvennres

3) 1180 4) 1220

1) 10%ofy;y Gw&) 10% 2) 16% ofy; y Gos) 16%
3) 80%ofy,y Q) 80% 4) None; DBS°&H

22) a>2b;.’»bdi» c<-% QOND.....cceenn ; If a>2b and c< % then..........
1) a>be 2) a<6e 3) b<% He>2

23) 2% o Sotd AB 50 Cen DBS Déymiden S&Ie &en 3600/,
& 6300/~ 5805 8@ 4800/~ Indo ergio B 3430/- oo CTEr.......

In a business A,B and C invested Rs. 3600/- Rs. 6300 and Rs. 4800/-
respectively. The total profit is Rs. 3430. The share of ‘C’ is ...t

1) 840 2) 1120 . 3) 1320 4) 1470—___@
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24) 3, 7,9, xen wddrsost aQSt x =

------------------

3, 7,9, x are in proportion then x =

................

1) 21 2) 24 3) 27 4) 30
25) So8 rduy 4% 5§ TS Con 348/~ wanss. wd R0y 8% SG
TS B 396/-e0 w8 wowS wden Gy ... ... (28 POSDSD)
A certain sum of money amounts to Rs. 348 at 4% interest, Rs. 396 at
8% interest then principal is Rs. ..............., (same time period)
1) 250 2) 270 3) 300 4) 275
26) 1.345= .. .o,
1332 T 1332
py 1332 2 B33 Yo M) 2
990 990 ‘ 999 900
27) & TPoid Hgeen $EEE Tegdo 7 20.80. §8 Seosns® 4 Q
SeOBERT HHD Aden «o:wé)oé @méo zﬁaé.»g"e)é .........

4 equal circles of diameter 7 cm ‘are touchmg each other
as shown in the figure. Then perlmeter of the shaded region is...........

1) 22cm. 2 23 cm. 0 3) 14cm. 4)21cm.
28) x'= 1 x—13 grAcse 3:%) eﬁiqa‘e;o
Ifx~1-1is lelded by X=1 then 1ts quotlent is

1) x N .k

29) A+B=2x2+3x+2,_B=x ~x+1 wowd ‘A’ cﬁné;:ooéo:é.ﬁ)ésaﬁno = s
If A+B=2x2433'5§¥2, B_=x2-x+1 then the additive inverse of ‘A’ is
1) x2+4x+1' | 2) —x2-4x-1 . 3) 4xP+x+4 4)5x

1
30) xy=b Knboﬁ» +;‘—a owond (x+y): dend

If xy=b and 7+ ;12- =a then the value of (x+y)? is ...........
1) (a+2b) 2) atb 3) b(ab+2) 4) ab(b+2)
31) 28 $& gFgod 100% oDS T Bee08° DENDEL .............

If the radius of circle is increased 100% the area is increased ...............
1) 100% 2) 200% 3) 300% 4) 400%

7"
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( 32) &¥ % Joymsnd 10 Hob 8 Beedt Froddn. & $3 ?.
oS’ el Saweath Dot EXEBH? ...,

Ten men can finish construction of a wall in eight days. Howmany mep
' ~ are needed to finish the work in half-a-day?

1) 160 men (5>08) 2) 120 men (H06) 3) 100 men (Xo0y) 4) 80 men (Ho06)
33) KAGSPEED 7.30 Kobem S $5Hch0s® Dfadsne, Kobeds o S
Swepoth g Hedin dod?
i The angle between the minute hand and the hour hand, when the clock
shows the time as 7.30, is...............
1) 35° 2) 45° 3) 30° 4) 40°
34) 28 S8 P2od Q6% fo Krssnh Kot 3 8.5, 3ns® 3o
Q %0l P ¥5% 6 8.5, K8 T, ansSt Kotr® Hood 3Kdn Jos?
A person covers the distance fr.gt"; 1P to Q at the speed of three kmph. From |
Qto P, he covers it at six km iat is the average speed per hour ..........

1) 3.5kmph; 2.8 Hotr% 3.5 8:3. © 2) 4 kmph; &8 Kot 4 8.8,
3) 4.5 kmph; 2.8 Koé.:é: 45 E:h: 4) 5 kmph; 2.8 Kot 5 8.5, H

35) 2.5 %8 6 8.5 r:S)é.ng"eé Ko 8@@5@5@6&» rhore Seods dan.
.83 5666)6@5"53’@ B@eg&» 2:35.8.20. @SS 866&3)6@@65}3
S Q‘é@ 3&&)‘)@} 0 ¢ Ho 3:.? Q0&?

A man walks alonga rectangle whose perimeter is 6 km. If the area of
the rectangle.is two sq. km. What is the difference between the length
and breadth of the rectangle?

1) Tkm 2 1km. 313 km. 4 2km.
- 36) émda&‘o%e:)q)_,l36é>bcﬁ»ﬁé°ep° 20@90»36§3°K: ................

Three numbers are in the ratio 1:3:6 and their H.C.F. is 20. Then their
LCMIS ...................

1) 120 2) 1200 3) 604 4) 240

37) 5:8 &Bdkw 3:70 2IVE JYB 45:X ©OVS X DEVS ..o
The compound ratio of 5:8 and 3:7 is 45:x then the value of X is...........
1) 56 2) 168 3) 148 4) 324

| 38) x2=0.04 ©omi$ X3 = ..o ; If x2=0.04, then x> =
1) 0.008

---------------

2) 0.08 13 0002 4)002 Ok
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G;)’:ué H65% 108 Hoob DEghen BTt ©oths® 86 06 Ke%éo@

o8B, 35 0D F8STFos® abuBrt: “bdn 3 Hod Bo
,sg%w% DT, ©ond Dot SRGHE% 0 PP Domge Sogy.......
In an examination out of 108 students 86 passed in Mathematics 35

passed in Physics and 3 failed in both subjects then the number of stu-
dents passed in both is

................

1) 13 2) 16 3) 19 4) 23

25 X 25 X

I+—=1+— oS x=....... : \/;———=I — =i
40) \[+]44 T X ; If M il then x =......

R 2) 3 3) 2 4) 1

41) ABCD oroa’&® LACB=40" wons [ADB=....ovvooveon)
ABCD is a rhombus. If LACB=40", then LADB i ............
1) 40° 2) 459 3) 50° 4) 60°

12) &8 SDIETYeO (°06R) HEEFYS 100 20,570 2.8 Ko 40 0.2
SO0 BOKD SO FED ..vv.ovvv...... 0.5,

The perimeter of rhombus is 100 cm and one of its diagonal is 40 cm

Sbescebpssscese

long then the length of the other diagonal is ............... cm.
' 1) 90cm. 2) 30cm. 3) 35cm. 4) 40 cm.
1-2x ‘ . : ]
43) (i) =4—ll (then) ®ondS X——=.......uu.ee.

5) 21 X
7 45 .53 14
- . 2) — -~ _—

R 2 ) 14 ) 14 49 35

44) 2%°.3Y 2.5_Zz =720 ®onS x' -y +11z Dend (X,y,zen F&seen).......
If 2¥°.3Y".57 =720 thenfind Jx'—y’ +11z is
(where x,y,z are positives)

1) 3 2) 15 325 45
45) 2.8 (B2b2206" Semen 1:1:2 8)‘{9965 @08, 8 gheren......... §86° dotrom.

If the angles in a triangle are in 1:1:2 ratio, the corresponding sides
are in the ratio .................

-------------

1) 1:1:1 2) 1:1:2 3 1:1:V2 9 1:43:2
46) JATFLO @95.)9 JEDSPH?  Set theory was developed by........ o
1) George Cantor, wés"oé.)s 2) Ronald Fisher; 5‘m°<§ RS

3) Rene Descartes; BR3Gs°8 4) Arthur Caylay; 9?59@3
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- e < T e —
r-‘\ém\rv’en ............

7) erSSE3F0StD Qe Qo8I AT R

=

Who was the first Woman Mathematician in India ........cooen,

1) Sakuntala I)evi;iﬂ&»oéew(ﬁ&) 2) Hypatia, }J"rf)"fﬁd’m

3) Leelavathi; Herd® 4) None, et

48) 1f 8A4B6=12;12A3B9=306; 50A25B50=100 then (e9omS) 16A4B4 =............
1) 12 2) 14 3) 16 4) 64

49) 28 S8 S Q) §%y S Den oD, Ango oo S0 54 $0c5»
Iwdo oo Vogg 150 @00 BE VOB orvvrvrrerrirrrnnes
A man has some hens and gots. If the number of heads is 54 and number

of feet is 150 then the number of goats is .......c.cc..o.....
1) 8 2) 12 - 3) 16 4) 21
50) ‘A’ ©36 ‘RAMANUJAN MATHEMATICS CLUB’&® o58:00 $508,
‘B’ @36 ‘SALUR’S® ogsne 3008 ©ovd n(ANB) =..........
& isthe st of aphabets i ‘RAMANUIAN MATHEMATICS CLUB
‘B’ is the set of alphabetsiin ‘SALUR’ thenn(ANB) = ................
35

200168 53 802565 s 5, §5om dowsnd,
ammmmwasﬁ,wawa Hootere ®od
9081 500 doagien 6D “DoAsed mBL, $8z 308 Saieo”
oS 55 525 oga; Daabdioso Jdew.

£ o508 TORTREOE® &émg £¢e5, doantoaro

L LS mqlsséﬂ‘.ﬁ tﬁ)egnsaoﬁm.

i
B i
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